TARGET 5 NEET ANSWER KEY

ANSWER KEY
Que.| 1 2 3 4 5 6 7 8 9 |10 1112|131 14|15 16|17 | 18| 19| 20
Ans.| 2 4 2 1 3 3 2 1 1 3 2 2 4 2 1 1 2 3 1 1
Que.| 211221 23|24 25(26]|27|28]29|30|31]|32|33|134]|35|36|37]|38]|39]40
Ans.| 3 4 3 1 4 4 2 1 3 4 3 2 3 2 2 1 3 2 4 2
Que.| 41|42 |43 |44 |1 45|46 |47 |48 149 | 50| 51|52|53|54|55|56|57]|58]|59]60
Ans.| 1 2 2 2 2 3 2 3 3 2 1 1 2 4 3 1 1 2 1 1
Que.| 61|62 | 63 |64]|65(66|67 68|69 |70|71|72|73|74]|75|76|77 | 78| 79| 80
Ans.| 2 2 4 4 4 1 2 4 2 3 3 1 3 3 3 4 3 4 2 2
Que.[ 81 182|83184|85|86[87]88|89[90]|91]192]193|194 19596 |97 ]98] 99 100
Ans.| 3 3 1 2 1 2 4 2 2 3 4 1 2 2 1 4 3 3 1 3
Que.[1011102|103]104|105|106(107]108|109(110|111|112]113|114]|115[116]|117[118|119]120
Ans.| 3 3 2 2 1 1 1 1 1 3 2 2 3 2 3 4 4 4 2 3
Que.|[1211122]123]1124|125]|126(127]|128|129(130|131|132|133|134|135[136]|137[138|139]140
Ans.| 4 2 4 1 1 1 2 3 2 3 1 3 4 2 2 4 3 1 1 4
Que.|1411142|1431144|145|146(147]|148|149[150|151|152|153|154 1155|156 |157 158|159 ]|160
Ans.| 1 3 4 2 3 4 2 1 3 2 3 4 2 4 3 2 3 2 2 3
Que.|[161]1162|163]|164|165|166[167]|168|169|170|171|172|173|174 175|176 |177|178|179]180
Ans.| 2 4 1 2 2 1 3 4 1 1 4 2 3 3 4 4 2 1 1 1
(HINT - SHEET)
2. (2i+3j+2k).4i-4j+ak)=0 6. T-100g = 100a ()
§-12+20=0=a=2 5
3. R =2a cos0/2 = 2 x 6 x cos30° = /3 T-60g=060 [Tg_aj ...(ii)
L potsn20 R [P from (i) and (ii) T = 1218N
g g I
7. AKE =—m [5¢gr — gr] = 2mgr = 20J
u’sin’ 0 2
H =———=2km
2g 8. W=AK
5. f=pN=054x2x10=108N L1
F =28N 25=—mv°  =—x2xV
applied 2
Fapplicd <F
- friction force = 2.8 N v=>5m/s
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Su+0=(+25)v
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v=—1u
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K:%x(5+2.5) vi’=5 = u=+/3 m/s

K, =%><5><3=7.5J

under mutual attraction, the centre of mass
remains at rest.

T sin0 = F,
T cosb = mg
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F,
E
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F, = mg tan0 ....(1)
In medium
K= mg > an0 ....... (i1)
from (i) & (ii)
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11 oscillation 9 oscillation

att=0

Particle is at ) & moving towards negative

extreme.
So, (x — 3) = 6 sin (4nt + 77/6)
X =3 + 6 sin (4nt + 77/6)

att=0
(mean position)
] 1

x=l—3 | x=l+3 x=9
f Cm+1)V
¢ 4L,
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Vi+V,
2
Vo=0=V;=2V,,.

A;=4cm
d=i+e-A
44 =42+ 62 -A

omin = 2i —A
38°=2i-60 = 1=49°

= VM

2n A W

M=

T
Ly =I+1+ 2\/ﬁcosE

=21
when A =41
[ =4I
ratio=2:1
nhc

P = nhv=——
ower Py

Where n is the number of photons per second.
o

m
u : A%

(A-4) v, =4v
B 4v
A—-4

Combination of weak base and its salt with strong

vy

acid act as basis bufter solution

NH,OH + HCI - NH,Cl + H,O
1 mol 0 0
eqn 2-1=1 1-1=0 1 1
Final solution have NH,OH + NH,CI then its
buffer solution
2C,H,,+130,—18CO,+10H,0 AH=-5756 KJ

47710

(58x2)g — -5756 KJ

inintial 2 mol

3756 38 e78 KI
58x2 10

lg—>

5.8g —>
* (sinl%)4

3
T on
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3M+1M
XL yL 3x+1ly=15x+Yy)

3x +y=15x+ 15y

1.5x - 0.5y =0
3x=y
X:y
1:3
3M+1M
yL xL 3xy+1x=ME+Yy)
1L 3L
3x3+1x1=M@B+1)
10=Mx4
M = 10/4 = 2.5M.
P, :P, Y, 'Y,
1:3 4:3

ratio of mole fraction is equal to the ratio of mole
o)

3
Y, =—=
443

Q| w

o
PBXB

Y, = o o
B Pyx, +P5x;

3 3Xg

7 1(1-x,)+Xy %3

2Ix, = 9%, + 3 - 3x,

1
5

Xg =

Cu deposited = 635 x 463060 =2.72g
2 96500
Cu Left in solution = 0.6 x 0.5 x 63.5 — 2.72
= 16.33¢g
[Cu™] = 1633 0.514 M
63.5%0.5
ExQ
YU
w,  Ex4x2x60
w, F
Ex6x40
F
m  4x2x60
WZ_ 6x 40
w, = m/2



74.

75.

Rate = k, [COCI]' [CL,]' (show step) 92. NCERT-XI Eng. Page No. 86
Kk, [cocl] K, 97. NCERT Pg.# 31,34,37,39
* Cicicol = [coci]=—[c1][CO] 100. NCERT Pg.# 7
. [c1][co] k,
101. NCERT Pg.# 38,39
Kk [cIf k2 e 104. NCERT Page No. # 170
K [oL] j[CI]_(EJ [CL] 109. NCERT-XI, Page 128, Para-2 line-3
110. NCERT-XI, Page 132, Para-4 line-5,6
K xﬁ | 111. NCERT-XI, Page 133, Para-1
Rate = %57~ < [CI] [COT [CL,] 112. NCERT-XI, Page 148, Para-2 line-11,12,13
s 113. NCERT-XI, Page 128, figure-9.2
K, 1 . 114. NCERT-XI, Page 169, figure-10.3
Rate =k, (k_J [CLI [COTICL] 116. NCERT Pg.#169
o 117. NCERT Pg.#204
~ ks [k 1 " 118. NCERT Pg.#180
=k X (kJ x LCOT [CL] 119. NCERT Pg#179
A — nB 121. NCERT Pg.#247
A, O 122. NCERT Pg.#221
A - x nx 123. NCERT Pg.#221
at Intersection A, — X = nx 127. NCERT XI Pg. # 262
A, 133. NCERT Pg. # 335(22.2.7)
X= "0+l 134. NCERT Pg. # 335(22.2.7)
139. NCERT XII, Pg.# 21
c ____mA 142. NCERT XII, Pg.# 25
onc. of B =nx =
(n+1) 144. NCERT Pg. # 61
N, + 3H, — 2NH, 145. NCERT Pg. # 60
Initial 1 1 0 148. 11" Biology Pg. # 147
1o 1-3a 2a 149. 12" NCERT Pg. # 71
= 3a=x 150. 12" NCERT Pg. # 70
g 2% 156. 12" NCERT Pg. # 100
3 157. 12" NCERT Pg. # 199
20 2(1-x) 160. 12" NCERT Pg. # 174
mole of NH, = —==—"= 161. 12" NCERT Pg. # 187
Sb,S, is negative Sol, So the ion will coagulate 162. 12" NCERT Pyg. # 212 & 213
the sol”, higher the charge on cation higher is 164. NCERT Pg. # 141
coagulative power 165. NCERT Pg. # 131




